L
S7_ S %ﬁi o \
= o il QW) NG \ 9.60 Oyqw
r 5784 5.0 O
““ _.8%5 - PR B ) ©” ‘g»‘\\‘ \
. /7240872889 ( i S . S
? Qé"' %0
R

y=2205009:04 "\ N

s 2 RN
U l.h_ ‘)ll X cs

/ \£=2205410:80 IRy
i O AN PR \ -

\O“

r=2205213.05

Al n=408704.21 P =020542900 /7
= Al o Ok=2205378.33 &
e A=t o \ - ~408683.84

ZOBBO0 57 9% il X '
T P k01607 Ze e 0 . o — 4 0 y=2205373.13 T=408720 09
I SN O O O x=408685.98 r=2005416.10}
R e . Oy=220536906 o
' —= :‘ A NG “"-‘1023 peoud o35
| T 4 N T e © O O x=408659.09 O v x=408670.38
7’/&@408693_64 e TTREsewow y=2205258.64 e y=2205366.51
: [y=2204996,84 o g e T Y O O ©=408639.85 1o
)j’w@ o Lo 205326.27
%}" ,. : o = O o | '-.... ©=408625.04
\\”z%éééso 55 n=408582.67 | O [72205856.05
o 1048 X=3UC - L \\\ E 10.68 =
BN ) o o 5 y=2205‘17(§:53\"“~ [ N ®:2205329.§O7 68 "=408606.27 |
\ 9& l‘é 0\\75 \\\\\°j06j1:40855780 z=2205340.97 Q
o T TT=2205326.27 |

N4
S =
'1

~=408638.18

r=2205638.41

~

n 9.82 9.

oo VUG, NS
Sa20s613.72 VL

"""l:,, A 9208695.48
; ## ‘\ /[l ‘ R |
| s o0 ) z@ﬁbmﬁff% o x=408650.02

~=408628.39

~=408619.89

r=2205566.75

z=2205516.09
‘ O O O - : r=2205562.30
\ N I-I_ ° L% . i , 0P [l : :
— A oC el ;
- I2—2<%05277.48 y Xs e "= 408587.39 z=2205486.61
~=408547.23 108 ~§ r=2205427.77
. < /7 £=2205268.96 | // . / x=408598.93
S —0 o ) f A YN x=408566.24 x=408583.98 y=2205463.67
o O'Tr S —
N ; = —_
S | 408500 ) /b / A y=2205351.99 y=2205408.02
Q \\\ ‘ 7
CsulfRSPARC / ‘ ~=408578.37
TS 22 © —
= o J n z=2205402.50
y4acTKa 'L@Cfd?)JdltSSOdZdJ 1dZtShOHJ, {O N \“\\\\
LYONS HEZW 60Ld P jidW Hisdse BRBIGISEe d eV BBESaEo n_
15| (12 ot fstesdfls jhse0) 0.1697 w.. O ~=408548.00
O 16 NG 0 —
6.17 | LUOHISST Hizv LOLG3 P jts Hisdstse SRslsiSte v Bsose 0.4696 , TN L =2205294.15
(11-2 4501 sl z-4h/00) | y=2205229 46/
18-40 | LUORSSd Hiz" 180LGs M jeb Hisdsise SRskEACis df ¥ Bissese 0.7660 ~ 3
U (11-2 1s04f Rlstesofls jz4hlso0) - ™~ SO o v jielsY>] GeOHBhistsofls jidkE6s 0G0 Lk jEAtses Zuohsso o v st jd GO sssetoWdyinSs? shise, ,
4144 LUONISSA it 0L P i Hiscitso SRiskiaclCso df BT Bstsese 0.6169 x=408441 49 g o HOGES? RY JJsdudy0 1.
4 (1v-2 0t fstesds jiz-4flse0) - :
45 LYONISES HEW tsOLBJ P jddw Cdis-Ists jhdtotyks? BOLT 3.8380 y_2205238 95 -
46 LYOMSESE HEW teOLE P JddW istecotsets Yook 5h0 0.5373 / m g YA R
/
LYOMISES HEW BOLE P jhdw BOLY BlsHT R0 (AstksetEoWdu it o .
A7 | Qi bstztetis-te0LOE GO jiA T2 Stz iCh  rsESO fiESBEHO") 4.7840 — SEOGTj ddhkdd ez jedj € tishisOdetsot joadf
48 LYOMSES HEW tsOLE P JidW HEstesE, Hftss jLHESD, lsteilsizOtsiso 1.3210 SR Ae0aGdy " kjtetedisstedd e <0 fz0hdtseSd
— - 08y T s jShdislz A Lidsji d R ZyOhsSise HEw e jHhisOotjdadw
49 | LUORSES HE" EOLE M dd" AE B ibbso BEOCSEAESMse0 0.0369 - WLdudnSods o sstedeynSeds ecfyods Hi™ fistetscl ji-fjise0 Viets jSls 0esoCd o B3 j>js0tqW b jEedssiedd © Ckayox
o N W60 et jShsdtelz jds R LB jEAd R ZyosSEs, e jHBOLGOY bk R HEW T e howr o] Z-ST<wos?,10-4 6. 105026 {shssonCs2 setofisd.
50 LYOMISSS HEZW t6OLBJ P JladW Az jo jdlsse BEOGSLZf St 2Miso0 0.0317 el jClsso COYsOL-dses sl ji-*fse0 {q.ns : _rqmqg : Lo T T
o x=408646.55 | | o R [serh 07.15 et jCls ch >4 o0 s | 2
51 LYENSES HEW BOLBSP jhdW At j& jdisse BEOGSEZstes2so0 0.0515 SEEEHORO T Yokt R bsyjS 60dkdy LB e Gr m ZyohkSse T T 07.15
y:220555796 abhtfiv. | =rddssen 07.15]  ['pauipt GopMupyembIx 3eMembHbIX yuacTko, | FJtehse0k1G0w Oendls jShizteiow
52 Ul{Ofr]lSlSQ HEW tGOLd?)JhJ.dqu 'leJ.dSJ.OZLStSS BOYOG"S'Z“]LS'[GBQMLSSO 0.0338 tetso jediz | FAhddS 07.15] IMAHAPYEMBIX [ IPCIOCTABICHIA (1)H3I’IquKHM 7§ @%Sétﬁ cow
. ) tstedk. Cisdalste) St P 07.15| opummaeckny maram s crpoutensersa M 1:1000




